Se
on H\

663;&
0\ Ak
')?ar'\\'
gé 9
N
&H&a " e
én
em\S 7C\>_
ol R

L
:: = BE |
3 - -

¢ ) =
(3™t
..L> ‘L{.

/[e /
\ re 10 ’\'lﬂ
C-
| | = 2.
ng-M
™ l) —\-S

(= £
{\- B
2




We  of e aﬂ"\‘f Dis b e ‘;"“‘Lr o o‘é'jee:\z.. N Mf\\'a/} o
LAW‘\\“CE We assume +l¢.c‘r an olgle,_"r MNeS Sw_h -Hu+

'\’\% fog'\ Kar T3 ﬂlsrw\
1% V(‘E} a,\é '\3{3 ac,c_e_l-e_& o 1S a4

SI(-';> = \IC—EX eré

Thus we Gwa alle wrike

S(t) = g \ C—E)A«'{: Qr\é

A \Da\\ \S A'L(bm u?m;-és k7 Qa 5‘
C\i'H? ’H’*A s Sbm L\Iﬂ\\, She. ’\'L!‘ouos H— w”H\Q
V6\061+T ff 1% M/{ec.., ’(T: ’\’wo Aecim\ F\dces/
A ik e bl ¢ eaches (+2

’\'(’u’\” L\cia\\-'\",

P

clo;‘fe.rn.\-e. ’H-Q ’\\‘M& a

;0\(\‘) QAA‘ MeASM

/H'u-’\' ﬁm\f\ 7 e "’L; a\\z 'FS"ce dcﬁ’\\q A
{/JQ_ al 2 6\\!{./\ ’H‘W-Jr

Mg Mum Ll 2

we AssuUMe _
'H‘L ba\\) S0 a I ER 1% .
5(0)7« 50 and \l(o>; 23.

Thew v = SGQ.@A{
_ a5t +C
28=-9.§.0*C
2%=C
ard herce Ye fw’\'\c“\od‘ coliPon s () = -3t 23,

aﬁce. \](05 - 2?) - L\‘w



N@Y-Jr)
s -\ (-134 +28) At

. -q5. & 4 286+ D

_ Y agts 28D

50=-49. 0+ 23-0+D
50> D

hp e porkeir behon 15 s (D= - HAUHIBESD

Now oo, B \JHZBZD £
_q 34 +2% =0
- 28 986

73
T b reackes 1"(5 MOE MM \«43& Z¥ a‘ooA 7.6 sec

%M\\7 ¢ (230 = -4 (2.%>°+ 2% (2.3 +50

= S0

S /\’[—e MM M L\cﬁ\/ﬁ\' aejnicw.& 1&( ’\’LL lga\\ 15 O m |

rr\\ro\\r(; cgef'wa’\"\wg of ’H{ uA\U‘o\m 'YW*c Yo O.Y_er

S?/\cc_ 5(03 "—‘-Sb) we o\p’\-af./\

DLs My

ore\Qr‘. FOF IV‘S"\_W‘C*?/ e Can Wl ij\'c_

iy Sy 3

-

\*
This 16 a w E .



The ocder L

o e g a Db 15 Me - ¥

doriuive w‘ﬁcl\ a O_F L‘;O[‘Q;\_
F'FQ“@ A ’(‘]LL 7»&4"}\“01\_

dy _ _
’23 AL ,\4_7 s a “Ftr‘s)x - order Dl

(A)¢ have
oy = e (GE)
IO Q s (DT

fiby= § (2anGOFCOAE
= 9. e (D s+ Ct+ C



Flo) = M e+ G+ 4
S ALKy =0, hawe
O=—"’(m6¢fz>*c\'% .
O:fWC\Jf"\
C\:—;‘-i—

g /‘"‘517 a(’f\'\ c.;,"f\‘oﬂs.

\'*ﬁ\tffw'éu s ale appear |
Hooke s | aw g'\’ﬂlres Moy Ae force oxerted 17
a s o returm o 2 iux\'\lor’w« Sode s
S)r‘o?ar'\\‘.w.\ v Ve étsF\anﬁr ) Sie i,
/He,YmAw:\' o ass and ﬁcce{d}.’km) Fookec Law
e engresed S Me cemd-orde DE
-jf;, = ks




